BAREFERIE
How to Master Japanese
SADT—Y
The Theme of this Month

FDOEWVLLGELN? !
BARANEHERYPLITVAREZEHLELS !
Your Accent isn't the Issue:

Consider how the Japanese Hear Your Speech!

BARANERFEZT HEE HSBRSNY BEMEAONYLLECERIHYFEEA
M TEFEREENBNDGIEFHOTLEIAIC, BAREDBH"EEHLTH TS
=Sl

You may have come across times when people ask you to repeat, or mishear you
when you are talking to Japanese people. Before you give up, thinking, “it's because
I have too thick of an accent,” try to be conscious of the “case particles”.

BhEAl>T{al?  What are Case Particles?

BifA&(X, SEIRECEIEEDRIFAEZENFFDONIITAITDIEEDRFATT , BAR
ANFETEEICEENTBARICHCABNWESIXNERYYLEASELTNVET,

CDEENEBAGECHATRYSFITEZLTLDSDMNBEETY .

Case particles (or case markers) are particles such as “wa”, “ga”, and “no” that act
to connect different words. When Japanese is spoken, the sentence is broken up at
points so that the speech does not feel unnatural. It is the case particles that help
identify where to break up the sentence naturally.
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LAHL. FEEIAZEE T T HARANERRYSHEWECATNERY>TLE
WET, Z539HLEBRANTEETEDESEN LFHEHEMNT CHER. BERLTL
For-Y . HEMEATCLES=YTHDTY,

Most people learning the language, however, do not consider this, and end up
breaking the sentence up at places where native Japanese speakers will never do.
When that happens, the native speaker will not be able to hear what the Japanese
learner is trying to say, and will ask to repeat it, or end up mishearing it.

FEEY T GEET =HIZIE
In Order to Make your Speech Clearer

BARADSNEERYOTOVBAREZEIOICE. BFEORATXETSELIITLEL
£, BIFADRATXZYHILET, XOUN BN LI LY, KENFEEY
PILGYFETS,

HAECTRETALSEI"MFA"FEHL T MEMYOTVEREETET LS(2DH
(TF£L&LD,

In order to speak Japanese in a way that is clearer to Japanese speakers is to
indicate where the sentence breaks up with a pause at the end of the case particles.
By breaking up the sentence at the end of the case particles, the parts in the
sentence become clearer, and your speech will be more easily understood.

When talking in Japanese, try to be aware of the “case particles” and put your
effort in making your speech sound easier to understand.

178 Question
KX DT HZEEXRLET . (The amount of the stars will show the difficulty)

* #1#k (Beginner) Y% F#k (Intermediate) % % _L#k (Advanced)

% 1

DZEIEDFZEAFELTRLEVDDE, 1-2-3-4 ME—DZHUESLY,
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* 1 :EROBAICAREATRIBRNBERSNLTEERBEBDENH D,
()T 1.0HL 212 3.HEH 4.5

(2)REHA 1.5<0 KR A 28DV 0<AA 352UKRA 4L >UR<RA
(B)TEERE 1 HLOEKIVLIY 280 ESYESY 3B ENEY£SY 430 &Y &
* M2 NI XEEDFADECATELI: EETY,

(4) K{EEE 1.7ZL\LHA 27zoLhA 1L\ A4 FZDLDA

B)M 1.hE 2K4b B3FE 43%A

(6)ELT= 1.L»Liz 25DLF 3.LYLE= 4951

(7)EE 1.LeLA 2&8-oL 3LL& 4. THH

*k S BMEHELEFHAEICERERAZENTILEN,

(8)BMFLE 1.ZAMLIZOILY 2.ZANEIESLY
3.LWMLIESLe 4.ZLVHMEIFSLY

(9)EHAE 1TLAEBLWLE 280VEMSLE SYULSLDSLLAESLIHLL
(10)1EFRr 1.LwoL&D  2LwH&EShH  3LwHL& 4Lw>HEC
(11) K4 1.L&HLY 2HFEZ 3.LFEWNLLEAT

*k B4 ZOERODBLEDEEIEI8XI2TT,

(12)B%x 1.8ECHBAL 280 S3IEABAL 41F-ALk
(13)&E 1.HYHLN 2.HYZ5 3.05HD 4051
(14) %t 1.20LY 2.f=Ly 3.&5 4%

*okok 5 FHICEIRMDEDNEFELTLSHAIEENDHD,

(15)FH 1.5E>5 25L& 3.56¥> 4.0 ES
(16) &40 1.4 2FL 3.\ 4.%5

(17)&EW 1.0:F(D 2. VESRD 3.ELED 4 HFLV5D

THENEAMZIEE2—(2022F 11 A )



(18) &7 1.80E0 2EWVFA 3.ELEL 4EWVFA

(19)H[EEME 1.D0UL\DSEL 2.0ANSELY 3HhDS3ELY 405D 5ELY

782
DIl EEFTELE. RVEIWVEDE . 1:2:340h5—D R HUEHELY,

* 1: 5 AEVELSLLT, hofZdHhi=FL 2N TS,

(20)LVEALLT 14ELLT  2.ALLT 3.KLLT 47T
(21)hin1 1.5 28 34& 4
(22)B1=%F 1®H 2B 38 4FE

* f2: VLI VATEL DT YIRITHLKTERDELY,

(23)UESHVA 1FER 25FF 35FA 45ER
(24)<9Y 18 2 31 43%
(25)12HKT 1. HCT2.FE{TI3.EL(T4HLKT

*k  [3:FEWICE HOVAMNDIVTINT, £TEI2HND,

(26)FWMIH 1.3#EH 2B 3.%H 4FH
(27)HBDOLy 1.8y 2.8 3EL 48BN
(28)DDL\T 18U\ T 28T 3T 4w T
(29)2Hh b 1.51% 2N 3END 4-@ND

*k 4 FOEDFETIC. AELT PHAZIFLOTIESELY,

(30)ITD2%F> 1.AX 2.ATF 3.AL 4A#
(B1)AELYT 1453 2.9 33 4ETF

(32)dBLA 1.2 2B 3FXE 4.EE
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(33)[E5->T 1.%-T 23A->T 3.E-T 4.3,-T

*kk 5 fEVWEILAR—E—[ETAITALRITI Mo HLVZAZFELTLE
by,

B4)1=1-\WFE 1.4 284 3ES 45S
(35) TAITABYS 1.5A%mh 2. a4 3.FAESH 4. @R

(36)MWVEA 1B 2Rk K 48T

EIRE3
[T ANBDIZHRLEVNBDHFE, 1-2-3-4DD—DZBLULSLY,
* (37)A:FRITOETE 1 IZiYELT=,

B%*L(j: bo

1.ZIDLELF: 2.08LEL: 3HEETLE: 480 TLS-

* (38)BErEEL EERELFELE

1.2HLT 2520/ H>T  3FELH-T 4.MDHT

*x (39)FEIDEEIL DA THHINET,
1.EE 2.FCH 3.E%| 4.1EHE
*k (40)BIXBEOHEAE EUIZIToTLEST=,

1<{FLT 25-5T 3.ChLT 41-HLT

* Kk (A1)EFEOTINE=DICHLERGZWALEIFE . FO AT FEH
ADTWTHENDMEWNAT T

1.HEHE 28HT 3.HLMK 452°mY

84
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_ [CEERARBVIEVEDE, 1:2:3:-405—DZ5UHELY,
* (42)3A72AIESE RBIFSLELT=,
1AYSAIFESH [FOGREFLE: 23VSAIFSH BFGEEELE
BAVIAITESH IFPGEILEL: 4TVIAIFSE HIGREILELL:
* (43)ET7/IEBIZEsWVELT,
1.E7/IEBIZHEB0EL 2ET7/IEBICALATELLELT:
SE7/IEBIZh->TELLELE 4E7/EBIZELATELLELE
*k  (44)CABFYURIFESIZELLGESS,
1T.CABIZDOVERIFZELGCTHELL 2ZARICODEREFEH O THLL
BIAKITDWVERITZEIFANERS 4TARICOLVERIIFEHoTIFLL
*k (A5)FDEDANFIFICHAEFHLES> o1,
1 ZDEDANTHAEZIGELEZLTLNV: 220D ANIEOEFYHIEHL

BEDED NIFELN=AY, I CITLEDPAT
4ZDEDANFFEZHIGNTIENTULV:

*kk (46)IE-LT EDEBAIFELLDEASID,
112U EDFEZIXELLVESD 2K B2 ZDEZIMNELLD, HABLRLY

BLLMNLT ZEDEFEZAFELLDELNGL 4TLA TDBEAFELWNER ST
N ATA

78S
RDODXD  IZANBDIZTREEWVNEDE, 1-2:3-4Hh5 —DZLUVESLY,
* (A7) FAD T I8S—FEER A S5ELY EREBEHEFELTY,

1hb 2T  3.0T 4L
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* (48) % HII 8K RIZIwYT=LY,
1.ET 2hb 3FTIC 45T
*k (4 TKEABYET L, ESTHFER BLLEASTLZELY,

1.[FE 2FT 3L 4ET

*xkx (BO)MFEAEE-TIRY LE HRIZFIENTRETDOLESR
FEENT-,

1.5M+5 2.0 (+1= 3.hTD 4. hMF1=o71=
*hkk (5NEIZ1BEBELIEEZF-ELHIFL. 0

1.9 HFRALHHST- 25HDITEEDLEIEHIETEEE ST

SENTHLELEICMIZE AITHEEDEIEFRL—XIZHAT

S RE 6
ROXD K  ([ZADREEVEDE, 1:2-3-4H05—DZ LU,

* (52)A: ENZES5TT 13,

B:ZMiAl% * TEFELLD,
1.7E-T 2 /DN 38— 4Ah5
* (53) v IR ED * ABENTLIESELY,

1.F%F 2MR% 3.7—)LIC 4551

*k (B4 AR —RYMIEFIZA. HHRD * MEFETESHLEES,
165 2KDIFS 3LV 4. EfES

**x  (65)ATLEELNF—L * DNRR—IT,
185 2.0 IMELLLY 4LIE

* Kk (56) ATEILEIFTETH * R DEEZ5D,
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1.FNCF 2.LVELY 3.£14-T 4.LL1=5

fEZ - 55 Answer-Explanation
HENRINTOEOERRIIERELGLEE A

Words in the options that are not accompanied by English do not make sense.
RE1.HE Q&AT

(1)2 (2)3 (3)1 (4)3 (5)4 ()2 (7)1(8)2 (9)4 (10)3

(11)1 (12)4 (13)1 (14)2 (15)3 (16)1 (17)4 (18)2 (19)3

f#E5 Explanation
E1:BROBIKNBATRIFABRNONABEFHIEDENH D,

There is a store western restaurant where you can have lunch for 600 yen
west of the station.

Bl2: CNIEKRFEEDFADECATELI-EETY,
This is a photo taken at the gate of the embassy.

B3 B MAHELZFHAEZITEMERABZENTESLY,

Those who wish to participate should write their name and address on the
application form.

4 COFERDBLOEIEF8R2TY,

The boy to girl ratio of this school is 8 to 2.
5 FHIIERMOEYMNEFLTLSAIREELH D,

There is a possibility there are unknown life forms living in space.
A2 & Q&A2

(20)1 (21)3 (22)2 (23)4 (24)1 (25)3 (26)2 (27)1(28)4
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(29)3(30)1 (31)2 (32)3 (33)4 (34)2 (35)4 (36)3
fi#E% Explanation
f1: 5 AIXCLLT, FRBEL AN TS,
This month has been busy and I am tired in both body and mind.
2 RWEE T ETESTROAL,

The medicine I got from the hospital is too bitter and I am unable to drink

E3: 88 FLAMELTLT, ETHENS,
The heat continues every day, and it is very tiring.
fl4: ARETIZ. BT REZHOTISY,
Please be sure to pay the rent by the end of the month.
{5 AGILA—F—[FRIRPTI Hb, BERZE>TISL,
The elevator is currently under inspection, so please use the stairs.
FRE3.f2E Q&A3
(37)3 (38)2 (39)4 (40)2 (41)3
fi#& Explanation
(B7)A:RITDETENIEHIE(ZAZYFELT=, The travelling plan got cancelled.
B:Z#nld EEZTLE 13, That was too bad.
1.ZIBLELT:  arelief 2.8 LZELT=  worrying
3. S TLT- too bad (regrettable) 4.ZuTLT- enthusiastic

(38)BEsE L S DMHoT | 1BHZLZFELI=.I collided with a bicycle and got
injured.c

1.2HLT destroyed 2.532M>T collided
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3.IF¥L>T ran 4.D->T rode

(39)FEIDEEIEL DI IEfE THAHNET, Newspaper articles should always

be accurate.
1.1JF[E  honest 2.FL® serious
3.E&| earnest 4 IEfE accurate
(40) BIFBLDFIERE LS-T | #WLITT>TLEST=,
My younger brother broke the promise with my mother and went out to play.
1<{3°LT toppled 2X525T tore
3.2HLT broke 4.1=8LT knocked over

ADTFE > TNEDICRLIRGVAEIFE . ZDHE HULMK FEMNADTINT
EEDNDOHNGENAT! ]

I'm glad that you invited me, but I'm afraid [ won't be able to make it as |
have other plans that day.

1.5HEHE  made all the effort to 26T  atthe very least
3.HLMZC  I'm afraid / unfortunately 4.52oMY  inadvertently

M4 BE QA4

(42)2 (43)4 (44)3 (45)1 (46)2

fi#5i Explanation

(42)3AVEAIESERIFILELT=, Yo—san overslept this morning.
1AVSAIESEIEOGEEELTZ  Yo—san woke up early this morning.
2AVSAIEEEABEZEEZFELTZ  Yo—san woke up late this morning.

S3AVSAIESERIZOGEILELT:  Yo-san woke someone up early this

morning.

ATSAITESEAEZ<HEILELT= Yo—san woke someone up late

morning.
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(43)ET7 /IFBIZH 5LV ELT=, learned the piano from my mother.
1ET7/IEBIZH5LVELT- I got the piano from my mother
2ET/IEBIZZASATELLVELT: | got my mother to choose my piano
SET/IXBIZh->TELWVELT: I got my mother to buy me a piano
AET/IEBIZELATESLLVELT: 1 was taught the piano by my mother

(44) CAEF YU RIFESZE LGS

There is probably not going to be any more chances like this.
1T.CARIZDWDVER X ELACTHLL
There doesn’t need to be any more opportunities that are as good as this
2. CATEITVDWNER I FE=Ho>THLWY

[ wouldn't mind if there were opportunities as good as this again
BLABICVWNHERIFIZEFGNERS
[ don't think there will be any more opportunities that are as good as this
4. ATFICODDERIEFR=HoTIELL
[ wish there were more opportunities as good as this

(45)FDEDANFFICHIAEHLES =27,

That woman seemed like she was about to burst into tears any moment.

1. ZFZDEDNIENEZFIHEEXL T That woman looked like she

was about to cry.

2ZDEDANIETOIFYNEHLT- That woman started bursting

into tears, as expected

BFDLZDANIEILN=A, FITHAEAPATE That woman did cry, but
stopped crying right away

AFDEDANIEIFEFHILZNTIAILNTL - That woman wept silently
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(46) =L T ZDEZIXELLDTZAS5H, [ wonder, is that the right idea?
1.1z ZDEZIEIELLMEAS That would certainly be the right idea

2ARYEIZFDEZAMNELWLD, HHMBELY T am not sure whether that is really
the right idea

BHLMLT ZDEZIFELLIVDELANLLY Perhaps that is the right idea

AL LA FDOEZIZELWLWEERST=AMDLIWY Rather, that idea should be

considered to be the right one
BEEs A% Q&AS
(47)4 (48)3 (49)4 (50)2 (51)2
fi#ER Explanation
(A7)FADT IN—HFERMSEZEL L HBELEFNTT,
My apartment is far from the station, and also, the room is small.

[FAD T IN—R HZDWTIERMSEWD ITEHEANE TV IELDI2DDEFLAN
TE-OTWET, [AL.BL.ClESDDEEDHCEZIZ[~LIZRLFENET A, [A
L.BIDKSIZ2DDEEDLHLIEDBTEET,

This person talks about “my apartment” as being both “far from the
station” with “small rooms”. The particle “—shi (and also)” is commonly used to
connect 3 things (A—shi, B—shi, C), but it can also be used to connect 2 things.

(48)45 BIX8FF FETIZ RIZIRYT-L . I want to be home by 8 today.

(SR IELVSERBINHBYET IS, TRIZF/Y=LDIXTSHEIZIANTSHEET
[ZIDDEELMNTY , NINEBERFZICHYFEEADIL. [EFTITIEEVFET . [~F
TIZHE“ZDBEAEDHIZ"ELVIEKRTT S, RITIFLD(I6FFTH7HTE.
S8R LOKTY,

A time, “8 o’clock” is given, so we have to determine whether this person
wants to “go home at 8” or “be home by 8”. “—ni (at)” is not one of the options, so
“—made ni (by)” is the correct choice. “—made ni” means “until that time comes,”
so coming home at 6, 7, or any time before 8 would be fine for this person.

(4 T={EABYET o, ESTWFER 1T BLEASTESLY,
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There is plenty (of food), so please eat as much as you like.

[T={SAHEIML, BRTEZSNIEE>TLET Mo, BRATLWETEF
SLEE - BREVEE £8 1T &, ENEKRERT SVARKMFELEITIT
ER

It is expressed here to “please eat, as there is plenty to eat.” The amount
permitted to eat here is “all that you wish to eat.” This is expressed by “suki na
dake (as much as you like / wish).”

(BO)MFAZFE>TIRY MFfz L& BRICFEINATREDHEEEENT,

Just as | got my bag to go home, | was called by the manager and asked to
do some urgent work.

[BIEAF TR+ DTRIZIE2DOERAHYFET

D“FEHRETLT. TELHOTULVELY —BIX) ZOa—E—IE8RA M (T

-
~0

Q@“~LZ312-~FBHEA — (BI) FERAIHRELTR—LNSELH
(-J—T:o

ZOXDNFYMNTBIEQDEKRTRAER" T, ImIEMETESILTLVE
ILNRYMNMTBHITRENRY NMT =12 RBUVES,

There are two meanings to the form [Verb (masu form) + kakerul. 1. When
something is still in the process of being done: E.g. This coffee hasn't been finished
being drunk yet. 2. When something is almost about to happen, or just as something
is about to be done: E.g. | was walking while looking at my phone, and I almost fell off
from the platform. The meaning of “kaeri kakeru” in this sentence is the second
type, so this means that the person was “just about to go home.” The act of “being
just about to go home” is considered to have already started, hence the correct
answer is “kaeri kaketa (I was just about to go home)” rather than “kaeri kakeru (I
am about to go home).”

BGNHEIF1FELIZEZF-E-HIT. SHOITLEHLEEFILETHEES
= &

After all the hassle of making us wait for 1 hour, he announced that today’s
meeting was canceled.
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[AHIFLBIE“BLHL =0 BIREE (A) DAKLEWLER (B) ITHD"ZEEFRL
FI, BIZIZEWMERNEFTTHDO, VAT RADEKRD I~ [Tt T HEE--1F
EUFET,

[A ageku B (after all the hassle of A, B happened)] expresses how “the
prolonged state of A” was followed by “the undesirable result of B.” B is always
something negative, so “announced ... to be canceled,” which is a negative thing, is
the correct answer.

[FlEE6 % Q&AG

(562)4 (53)1 (54)3 (55)4 (56)4
fi#ER Explanation

(52)A: BNES3TI 1,

B:CMillx 20 —m SR Mo EOT TEFLLS

A:It looks like we're running late.

B:There are only a few taxis here so let’s run.

(BI)AIIRED BRE Ef- FF T—ILIT ABLGNTEEL,

Please do not enter the pool wearing clothes such as shirts.

(BA) AU B—FYMIEFRIEZA FHRD EHES EWOVSHE AbLVDE ADESH
BRETEHLERS,

The internet is useful, but when it comes to the accuracy of information, 1
think books are more reliable.

(65) I LIMNF—L A BHTS &F HESLL DARR—UT,

Sports is something where the stronger team does not necessarily always
win.

(66) ATEIEIFTEITA &3G-T WVElY &Lf=n EhIE EEDEELTS
520

If you're all talk and no action, that is the very definition of a waste of time.
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